Finding 10 more and 10 less
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a a) The @ player gets 10 more points.

How many points does @ player have now?

b) The Q player loses 10 points.

How many points does O player have now?

76

a) @ player has 40 points. s

@ player wins 10 more points. g
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@ player had 40 points

so I started at 40.
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10 more than 40 is 50.

40 +10=50
@ player now has 50 points.
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10 less than 57 is 47.
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57 - 10 =47
O player now has 47 points.

0 How many points does @ player have?

e Copy these sentences and answer the questions.

10 more than 73 is D
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